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A BRI (BH) - NEAY - BaS 0l A o e
X2 ot 254,000 254,000 0
AEES MEQOH X (AMIESX/IN=NHESH) 254,000 254,000 0
A2SSAE NHED| XH (22 EEFH) 254,000 254,000 0
3= X012 254,000 254,000 0
201 LBt29H| 12,000 12,000 0
02 s32g9Hl 12,000 12,000 0
O ZHMol MeEotNIIZ2 Myl & E50 =5
& esRE= 2,000& = 504 100
O ZHOo Metot™ Iz My 11,900
» 23 SJ| Z=a4E 250,008 * 300 7,500
* ol Kl S)| E& =3  200,000& x 220! 4,400
501 A2 40,000 40,000
01 U2t X2 40,000 40,000
O MASS A& XNZ2 X 40,000
* A 15,000,000& * 27+ 30,000
* A 10,000,000& * 1D+ 10,000
602 Ol X2 200,000 200,000
01 WIXIZ2 200,000 200,000
O Wx=2 200,000,000& * 1A 200,000
801 0flBlbl 2,000 2,000
01 aldlbl 2,000 2,000
O olgldl 2,000,000& * 13 2,000




